

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SKV 6932A

	REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	FRONT BONNET	BUCKLED	\$1,180.00	\$992.30	
2	FRONT BONNET LOCK @\$149.50	BENT (1PC ONLY)	\$299.00	\$149.50	
2	FRONT BONNET HINGER @\$129.35	TO REPAIR SEE LABOUR	\$258.70	\$0.00	
2	FRONT BONNET RUBBER @\$92.00	SERVICEABLE	\$184.00	\$0.00	
2	FRONT HEAD LAMP ASSY @\$749.00	BROKEN	\$1,498.00	\$1,498.00	
2	FRONT HEAD LAMP BRACKET @\$185.00	TO REPAIR SEE LABOUR	\$370.00	\$0.00	
2	FRONT HEAD LAMP HID BULB @\$180.00	NOT NECESSARY	\$360.00	\$0.00	
1	FRONT GRILLE	BROKEN	\$530.00	\$530.00	
1	FRONT GRILLE TOP GARNISH	BROKEN	\$256.76	\$256.76	
1	FRONT GRILLE LOGO	NECESSARY	\$139.30	\$139.30	
1	FRONT BUMPER	DENTED	\$1,389.00	\$801.00	
1	FRONT BUMPER CENTRE GRILLE	NOT NECESSARY	\$521.38	\$0.00	
1	FRONT BUMPER LOWER GRILLE	DEFORMED/MTG BROKEN	\$421.88	\$421.88	
2	FRONT BUMPER FOG LAMP ASSY @\$353.30	BROKEN	\$706.60	\$706.60	
10	FRONT BUMPER FOG LAMP CLIPS @\$5.00	NOT NECESSARY	\$50.00	\$0.00	
2	FRONT BUMPER RETAINER @\$128.00	NOT NECESSARY	\$256.00	\$0.00	
1	FRONT BUMPER LOWER PAD	NOT NECESSARY	\$378.20	\$0.00	
1	FRONT BUMPER CENTRE BEAM	DENTED	\$590.00	\$345.20	
1	FRONT BUMPER LOWER BRACKET	NOT NECESSARY	\$323.28	\$0.00	
1	FRONT BUMPER TOWING COVER	SERVICEABLE	\$39.10	\$0.00	
4	FRONT BUMPER PARKING SENSOR @\$462.68	NOT FITTED	\$1,850.72	\$0.00	
4	FRONT BUMPER PARKING SENSOR HOLDER @\$30.00	NOT FITTED	\$120.00	\$0.00	
4	FRONT BUMPER SENSOR RING @\$12.00	NOT FITTED	\$48.00	\$0.00	
1	SET FRONT BUMPER HARNESS WIRE	NOT FITTED	\$299.00	\$0.00	
2	FRONT FENDER @\$585.00	TO REPAIR SEE LABOUR	\$1,170.00	\$0.00	
2	FRONT FENDER DUST GARNISH @\$199.00	NOT NECESSARY	\$398.00	\$0.00	
20	FRONT FENDER DUST GARNISH CLIPS @\$6.00	NOT NECESSARY	\$120.00	\$0.00	
2	FRONT FENDER SIDE ROUND @\$258.00	N/S DEFOMRED / O/S NOT NECESSARY	\$516.00	\$258.00	
1	FRONT SUPPORT PANEL	DENTED	\$1,139.30	\$598.70	
1	FRONT SUPPORT CENTRE BEAM	NOT NECESSARY	\$190.00	\$0.00	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	REPLACEMEN	T OF PARTS		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
2	REAR FENDER @\$1351.00	BUCKLED	\$2,702.00	\$1,768.80
1	SUPPORT TOP GARNISH	CRACKED	\$499.00	\$218.30
10	SUPPORT GARNISH CLIPS @\$6.00	SERVICEABLE	\$60.00	\$0.00
1	AIR INTAKE ASSY	BROKEN	\$1,280.00	\$1,280.00
1	AIR INTAKE HOSE	BROKEN	\$62.00	\$62.00
1	RADIATOR	BENT/PUNCTURED	\$916.00	\$916.00
1	RADIATOR TOP HOSE	NOT NECESSARY	\$129.00	\$0.00
1	RADIATOR BOTTOM HOSE	NOT NECESSARY	\$135.00	\$0.00
1	RADIATOR SPARE TANK	NOT NECESSARY	\$159.00	\$0.00
1	RADIATOR FAN ASSY	BROKEN	\$699.00	\$699.00
1	AIR-CON FAN ASSY	BROKEN	\$685.00	\$685.00
2	SUPPORT DUST GARNISH RH/LH @\$310.00	SERVICEABLE	\$620.00	\$0.00
1	AIR SCOP HOUSING	NOT NECESSARY	\$230.00	\$0.00
1	AIR FILTER HOSE	NOT NECESSARY	\$210.00	\$0.00
2	SRS SENSOR @\$310.00	NOT NECESSARY	\$620.00	\$0.00
2	REAR FENDER ROUND PROCTER @\$305.00	O/S DEFORMED / N/S NOT NECESSARY	\$610.00	\$305.00
1	REAR WINDSCREEN	REPEATED	\$1,280.00	\$0.00
1	REAR WINDSCREEN MOULDING	NECESSARY	\$330.00	\$180.00
1	SET REAR WINDSCREEN REPAIR KIT & SEALANT	REPEATED	\$180.00	\$0.00
1	FRONT WINDSCREEN	CRACKED	\$1,390.00	\$1,390.00
1	FRONT WINDSCREEN MOULDING	NECESSARY	\$350.00	\$180.00
2	REAR LH FENDER HOUSING @\$568.20	TO REPAIR SEE LABOUR	\$1,136.40	\$0.00
2	REAR LH FENDER DUST GARNISH @\$199.20	NOT NECESSARY	\$398.40	\$0.00
20	REAR DUST GARNISH CLIPS @\$6.00	NOT NECESSARY	\$120.00	\$0.00
1	REAR FENDER QUARTER GARNISH RH	DISLODGE	\$198.40	\$198.40
2	REAR FENDER INNER GARNISH BOARD @\$498.80	DEFORMED	\$997.60	\$997.60
2	REAR LH FENDER INNER GARNISH HOLDER @\$350.60	NOT NECESSARY	\$701.20	\$0.00
2	REAR LH FENDER INNER HOUSING CARPET @\$330.60	NOT NECESSARY	\$661.20	\$0.00
10	REAR LH FENDER INNER CLIPS @\$6.00	NOT NECESSARY	\$60.00	\$0.00
1	REAR BOOT	BUCKLED	\$1,330.40	\$1,086.60
2	REAR BOOT HINGER @\$169.80	TO REPAIR SEE LABOUR	\$339.60	\$0.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	REPLACEMEN	T OF PARTS		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
2	REAR BOOT ABSORBER @\$138.20	SERVICEABLE	\$276.40	\$0.00
1	REAR BOOT INNER GARNISH	BROKEN	\$450.30	\$385.00
1	REAR BOOT OPENER ASSY	SERVICEABLE	\$696.40	\$0.00
1	REAR BOOT LOCK ASSY	DAMAGED	\$249.90	\$249.90
1	REAR BOOT LOCK CATCH	TO REPAIR SEE LABOUR	\$93.10	\$0.00
1	REAR BOOT WEATHER STRIP	DEFORMED	\$484.10	\$268.30
1	REAR WINDSCREEN	SHATTERED	\$982.40	\$982.40
1	SET REAR WINDSCREEN CAMERA ASSY	SERVICEABLE	\$480.00	\$0.00
2	REAR LAMP ASSY @\$486.00	BROKEN	\$972.00	\$972.00
2	REAR LAMP HOUSING PANEL @\$428.70	TO REPAIR SEE LABOUR	\$857.40	\$0.00
1	REAR END PANEL	BUCKLED	\$788.60	\$585.00
2	REAR END PANEL BASE @\$454.70	NOT NECESSARY	\$909.40	\$0.00
1	REAR END PANEL GARNISH	DEFORMED	\$287.40	\$185.45
6	REAR END PANEL CLIPS @\$10.00	NOT NECESSARY	\$60.00	\$0.00
1	REAR END PANEL CENTRE HOLDER	NOT NECESSARY	\$69.40	\$0.00
1	REAR SPARE TYRE PANEL	BUCKLED	\$1,531.00	\$838.10
1	REAR SPARE TYRE BOARD	DEFORMED	\$1,239.30	\$306.60
2	REAR SPARE TYRE BOARD HOLDER @\$310.00	NOT NECESSARY	\$620.00	\$0.00
2	REAR SPARE TYRE RH CORNER PANEL @\$98.00	NOT NECESSARY	\$196.00	\$0.00
1	REAR SPARE TYRE BOARD RUBBER COVER	NOT NECESSARY	\$399.10	\$0.00
1	REAR SPARE TYRE LOWER DUST COVER	DEFORMED/BROKEN	\$568.10	\$225.10
3	REAR SPARE TYRE TUBE COFE FLOOR MAT @\$190.00	NOT NECESSARY	\$570.00	\$0.00
1	REAR BUMPER	DENTED	\$1,790.50	\$762.20
1	REAR BUMPER REINFORCEMENT	NOT NECESSARY	\$857.40	\$0.00
2	REAR BUMPER RETAINER @\$128.60	NOT NECESSARY	\$257.20	\$0.00
2	REAR BUMPER NO. PLATE LAMP @\$98.00	NOT NECESSARY	\$196.00	\$0.00
1	REAR BUMPER LOWER PAD	NOT NECESSARY	\$396.20	\$0.00
1	REAR BUMPER WIRE	NOT NECESSARY	\$298.50	\$0.00
4	REAR BUMPER PARKING SENSOR HOLDER @\$29.80	NOT NECESSARY	\$119.20	\$0.00
4	REAR BUMPER SENSOR RING @\$12.00	NOT NECESSARY	\$48.00	\$0.00
2	REAR BUMPER LOWER DUST GARNISH @\$238.00	NOT NECESSARY	\$476.00	\$0.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
8	REAR BUMPER DUST GARNISH CLIPS @\$8.00	NOT NECESSARY	\$64.00	\$0.00
1	REAR EXHAUST	BENT	\$799.80	\$799.80
1	REAR EXHAUST SHIELD	NOT NECESSARY	\$231.40	\$0.00
6	REAR EXHAUST MOUNTING @\$78.20	NOT NECESSARY	\$469.20	\$0.00
1	CENTRE EXHAUST PIPE	NOT NECESSARY	\$696.00	\$0.00
1	CENTRE SHIELD COVER	NOT NECESSARY	\$199.10	\$0.00
2	REAR CUSHION ASSY @\$689.20	SERVICEABLE	\$1,378.40	\$0.00
1	REAR CUSHION LOCK LH	NOT NECESSARY	\$296.50	\$0.00
1	AIR-BAG ECU	NOT NECESSARY	\$1,890.00	\$0.00
	LESS 0.00 / 20.00% DISCOUNT		\$0.00	(\$4,644.76)
	·		\$57,935.12	\$18,579.03

	Special Nett			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
8	FRONT GRILLE CLIPS @\$7.00 (SN)	NECESSARY	\$56.00	\$15.00
10	FRONT BUMPER CLIPS @\$6.00 (SN)	NECESSARY	\$60.00	\$20.00
1	SET FRONT WINDSCREEN REPAIR KIT & SEALANT (SN)	NECESSARY	\$180.00	\$40.00
1	SET REAR WINDSCREEN REPAIR KIT & SEALANT (SN)	NECESSARY	\$280.00	\$40.00
4	REAR BUMPER PARKING SENSOR @\$239.60 (SN)	DAMAGED (2PCS ONLY)	\$958.40	\$220.00
10	REAR BUMPER CLIPS @\$6.00 (SN)	NECESSARY	\$60.00	\$20.00
			\$1,594.40	\$355.00

Labour				
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
TO REMOVE & REFIT RADIATOR, PIPE, HOSES, RADIATOR FAN & ASSY. TO REMOVE & REFIT AIR-CON CONDENSER, PIPES, HOSE & ALL ACCIDENT AFFECTED AREA, & TOP-UP GAS & OIL		\$900.00	\$150.00	
TO REMOVE & REFIT FRONT & REAR WIRING DOOR, INTERIOR & ALL ACCIDENT AFFECTED AREA		\$400.00	\$60.00	
TO REMOVE & REFIT ROOF LINING, INTERIOR BOARD, GARNISH, PANEL, CARPET, CUSHION & ALL ACCIDENT AREA		\$800.00	\$200.00	
TO CLEAN & WASH ALL INTERIOR & ALL ACCIDENT AFFECTED AREA & DAMAGED GLASS		\$280.00	\$50.00	
TO REMOVE & REFIT RENEW EXHAUST		\$280.00	\$60.00	
TO REMOVE & RENEW FRONT & REAR WINDSCREEN		\$400.00	\$240.00	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

Labo	our		
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
TO KNOCKING & STRAIGHTENING, WELDING REPAIR & RENEW ALL ACCIDENT AFFECTED AREA. INCLUSIVE OF THE REPAIR OF FRONT BONNET HINGER, FRONT HEAD LAMP BRACKET, FRONT FENDER, REAR LH FENDER HOUSING, REAR BOOT HINGER, REAR BOOT LOCK CATCH AND REAR LAMP HOUSING PANEL.		\$4,500.00	\$1,600.00
TO USE CAR FRAME STRAIGHTENING MACHINE FOR BODY & CHASSIS ALIGNMENT		\$1,200.00	\$150.00
TO RESPRAY PAINTING ON ALL ACCIDENT AFFECTED AREA, INNER & OUTER PORTION		\$2,900.00	\$1,600.00
TO RUST PROOF ALL ACCIDENT AFFECTED AREA		\$500.00	\$60.00
		\$12,160.00	\$4,170.00
GRAND TOTAL		\$71,689.52	\$23,104.03
RECOMMENDED COST OF REPAIR SUM (CONFIRMED)			\$10,700.00
Report Ref No: CS/INC24080234/Dnh3			

TOTAL FOR SPARE PARTS: \$ 59,529.62 \$ 18,934.03
TOTAL FOR LABOUR: \$ 12,160.00 \$ 4,170.00
TOTAL REPAIR COST: \$ 71,689.62 \$ 23,104.03

ABT

ANG BRYAN TANI

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.